® 71z9] Zol7} xem, AR Zol7t dem Q) AAZF ] Hol7}
yem? ©]t},
@ 3t 7hell 200 Sh= &9 x 7] g2 y dolrt.

® ddigto] x &l =y oIt

Q18 o7 x o 9 4 9l AFge] F4 y Holc,






3.  y=3x°A x9 gl -1,0,2¢

s Us =

® -1,0,1 @ -2,0,2

@ -4,0,4 G -



sfol

27

W4y = -3x o FE@O] ~6,-3,+3,+6 A W, x| W]

4.



x9

to

11,2, 3 4012,y 2401 1,2,3,4,5,6, 7,8 L o], y7} x

) 47} Hl A2

O y=2x+1
1
@ y=3x

® y=2x






7.

() = ax—1-(a-x) 7 f(2) = 3 & WEG W, £(2) +
= wrzabe p o groll diskel b o] 7S oozt



8.

x 9] grol 0olAF 10 Bt 22 #4=o]al, y o] FFo] 0 o]4F 10°]s}k
At A o, B A y 7F x O] &9l AL E E A1V
H7]

A y=(EH3UE & F)

© y= (xEoh &2 25)

© y=(x9 3ujHT} 322 %)

@ y= (xo] Adiglte] 1S gt )

@ y=(xo FHgtET 28] Z A 5)
@D 17 @ 270 ® 370 @ 470 ® 570




